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Date _____________ Period ______
1. Calculate the pH of a 0.001 M solution of hydrochloric acid.  
2. Calculate the pH of a solution containing 0.34 moles of nitric acid in 735 L of solution.  
3. Calculate the pH of a solution containing 4.5 grams of nitric acid dissolved in enough water to make 2.3 liters of solution.  
4. Calculate the [H+] and [OH–] concentrations in the following solutions.  Each is either a strong acid or a strong base.  

a.
0.013 M lithium hydroxide


b.
0.150 M nitric acid


c.
0.0200 M calcium hydroxide

5. What is the pH of each solution in item 4?

a.


             b.

                         c.

6. The pH of an aqueous solution of NaOH is 12.9.  What is the [OH-] of the solution?         
What is the pOH of a solution made with 0.560 grams of oxalic acid, H2C2O4, in enough water to make a 600. ml solution?  
7. An acetic acid, HC2H3O2, solution has a pH of 4.0. What are the [H+] and [OH–] in this solution?                         

8. What is the pH of a solution made with 1.00 gram of sodium hydroxide dissolved in enough water to make a 400. ml solution?  
What is the molarity of a solution of Ca(OH)2 in a solution that has a pH of 10.80?
Answers
1) 3     2) 3.3     3) 1.5    4)a.[OH–] = 0.013 M; [H+] = 7.7 × 10–13 M    b.[OH–] = 6.67 × 10–14 M; [H+] = 0.150 M    c.
[OH–] = 0.0400 M; [H+] = 2.50 × 10–13 M   5)a.  12    b.  0.824  c.  12.6        6)0.079 mole/L     7) 12.3     8)  1.0 × 10–4;1.0 × 10–10 mole/L   9) 12.8   10) 3.15 × 10–4 mole/L
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